| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
o T e e
T R -
0.2
O

effi

) 0 e ot e ot
Q08

OJ_.l.Q-llll:llll:llll:llll:l Ih!dll :II I:IIII:IIII:IIII

Rati
=

00 A U A 0 U O

09 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R0O00000001__Global__cmsswQCD__RECO
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO

o0 —«— DQM_V0001_R000000001__Global _mkFitNewQCD__RECO
N . N T N T
N ; ;

9.45
)
_5 0.4
(&)
.35
()
0.3
0.25
0.2

JEN T .

30 20 -10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


